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geEnefal & fory faeer —

Instructions for the candidates :-

1. qerreft JTEYd U veal H B STR T |

Candidates are required to give answers in their own words as
far as practicable.

2. qIfel &R 8RR W 3 g o uries Mifde &<t B |

Figures in the right hand margin indicate full marks.

3. 9 U UF Bl FYhd U dl ezl BT AU & g 15 e
&1 SffaRad F#a faam a1 2 |
15 minutes of extra time has been allotted for the candidates to
read the questions and follow the instructions carefully.

4. I8 YTI—UA QI WSl § B, WUS—3I Ud WUs—4 |

This question paper has two sections: Section-A and Section-B.



Gus—3 H 42 IS YA €, T ¥ 35 YAl Bl IR <A1 AR
2 (IS T & fog 1 &iw IR 2 1), 9@ SR Sua R W

OMR—3e % &3 T W&l g Bl Blet /el dfcT U | 93| fhdl 0

JHR & @SSR /IR U /s /AEd 3 &1 OMR e # WaRT
BRAT HAT 7, TIAT TRIeTT GROIMH AT BITT 1)

In Section-A, there are 42 objective type questions in which 35
questions are to be answered (Each carrying 1 mark) Darken the
circle with black/blue ball pen against the correct option on OMR
Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail on

OMR Sheet, otherwise the result will be treated as invalid.

Gus—9 H 18 IR—THMS qYIWI U 8, (IS & foIw 2 3@
fFeiRa 2) R ¥ 5= 10 ul @1 SR AT sifver 1 g%
faRad g9 @ve # 6 <19 S ued oy € (@ @ oy 5 3@
FeiRa g 1) e 9 5= 3 Ul &1 SR <1 1A 2|

In Section-B, there are 18 Non-objective short answer type
questions (each carrying 2 marks) out of which any 10 questions
are to be answered. Apart from this there are 6 Long answer type
questions (each carrying 5 marks). Out of which 3 questions are

to be answered.

Pl YR & Seldciivd SUHRYT BT TIRT QUITAT afoid & |

Use of any electronic appliances is strictly prohibited.



Yus—3 / Section —A

geqf~ss 939 / Objective Type Questions

U IT 1 W 42 db & TP Y3 & 91 IR fadpey fov v & 5949 9 s
FE ¥ U §RT g Y A fadwey oI OMR e W fafzd o | g9+ A fogl

35 Ul BT SAX <47 A 2| 39 Wus ¥ I dis et 35 ysAi 9 S1fda
IR T & Al UAH 35 YAl b SR DI Bl Sird BRI | TP U b 1w 1 3k
feiRa 2 | 35x1=35

Question No.- 1 to 42 have four options out of which one is correct.
Answer any 35 questions you have to mark your selected option on the
OMR sheet. In this section if any candidate answers more than 35

questions then first 35 answer will be evaluated. 35x1=35

1. fapra &1 e Refay § —
A- S 319 3T Bl SNfdd XEHT HiST Iram § |
B- Su¥ &l d9 Ifd & g9t 8l 2 |

C- SgH P g7a DR Pl IATHT AT 2 |

D- Sudad w49l §9 |
In the decline stage of Growth:

A. The enterprise finds itself difficult to survive.
B. The enterprise starts incurring losses at an-increasing rate.

C. The enterprise prefers to close its shutters.



D. All the above.

= § A W AR &7 SR ' —
A. gger |ardl T

B. =Sl MY AT

C. eI yaegd BT da+

D. Y& 814 A1 |

Which of the following is an example of fixed cost -

A. Direct material cost B. Chargeable Expenses
C. Salary of office manager D. Direct Labour cost
TABE T § —

A. Y ‘ B. @Il

C. 3fgad D. s ¥ ®Is 8

Telephone expense is:-

A. Fixed B. Variable

C. Semi-Variable D. None of these

T U7 U BT ©
A. goia: gRfera B. 3% {Rfera
C. aRgRfer D. 579 9§ ®Ig 8l

Naked debentures are -



A. Fully secured B. Partly secured

C. Unsecured D. None of these
R g0 Y fAdvar g —

A e T B. ¥Ry

C. 3MHY®H D. ¥ 9

The characteristics of a good brand is :-

A. Short Name B. Memorable

C. Attractive D. All the above
gt & —

A. 3ffTard B. 3mavd®

C. Uz D. &9 &I gaial
Labelling is : -

A. Compulsory B. Necessary

C. Voluntary D. Wastage of money

g & forv fagor ?
A. 31fard B. 3maw®
C. 3T H D. fqerfaar

For business marketing is :-

A. Compulsory B. Necessary

C. Unnecessary D. Luxury



10.

11.

fauoe R =y fhar T g9 8§ —
A TaidT B. 3E1d%IH
C. TP R R D. fafars=

Money spent on marketing is :-

A. Wastage B. Unnecessary

C. Burden on customers D. Investment

geT Icare H fAreferRad =Ror |fwford 28—
A. grIif® B. fgd®
C. 9E® D. 9% 9 9

Following stages are included in indirect product :-

A. Primary B. Secondary
C. Tertiary D. All of these

Iaure FRIET & HEqUl Uge] R § —
A. 3dre =T B. ufthar fAieor
C. foReror fageryor D. 9% 9 9

The important aspects of the product inspection are -

A. Production inspection B. Process inspection

C. Inspection analysis D. All of these

fear Y <91 & faprT & 99 3Mfdd MITIHAT B—
A. 31fore FaEE @l B. arfefe G o



12.

13.

14.

C. B Jdg B D. 379 9§ ®Ig 8! |
The foremost need of development in a country is of

A. Physical resource B. Economic resources

C. Efficient management D. None of these

"ydg TP LT 8 I§ HAT [T & -
A. TS TR SR B. 3MR® yee TAIRIeM
C. e Bad D. 79 9§ ®Ig 8l
“‘Management is a profession”. This statement is of :-
A. George. R. Terry

B. American Management Association
C. Henary Fayol

D. None of these

ORI Heferd 81 BIell ® —
A B B. &) 9 Had
C. 911 YSil &1 uraer D. & H¥d YIrae

Incentives are not concerned with:-

A. Rebate B. Exemption from tax

C. Provision of seed capital D. Lum-sum- payment

9 31oi Ufhar & 9T & —

A. FaTe B. Mg



15.

16.

17.

C. sl

Learning process involves:-

A. Drive

C. Response
M HERT & —
A. Rarga

C. T HTd
Subsidiary is :-

A. Concession

C. Repayment

afefe Nfaat fMeiRa wwel 2 —

ATTA™T DI HE

C. g &1 fT9m ud |

D. 9dTeld, 94419 Uq agm

B. Cue

D. Drive, Cue and Response

B. g2z

D. 9% ®Is 78!

B. Discount

D. None of these

B. @aar @ fazm

D. SWad ¥ ¥ ®IE -TE

Economic policies determine the :-

A. Volume of business

C. Direction and Volume of business

B. Direction of Business

D. None of these

ISR HATH+T DI DI AT dcd YHITId Te] HRAT & —

A. 91T

C. fquore Hegzey

B. &H araRo

D. ufcarf

Which element does not affect market assessment -



A. Demand B. Micro Environment

C. Market intermediaries D. Competitor

= § A B T IUH B YHIATT D AR A B —
A. URMPH—Yd Irael B. URM™® 3fawern
C. IS IR 3feved] D. aTe &1 gfg sraven

Which of the following is not a stage of starting a new venture.

A. Pre- start-up stage B. Start up stage

C. Product market stage D. Later growth stage

TP A% I H oraed & 4 o B =iy -
A. S BT B. Iz &1
C. auda+ &1 D. 395 & |41

A successful entrepreneur must possess the following quality:-

A. Leadership B. Control
C. Innovation D. All of these

Ahel SUHH BT 3MAID T o—
A- GURHINT AR ey
B- ywrayel fFrarer
C- Atd B =l
D- 9 A3R 7 B

Requisites of successful enterprise is :-

9



21.

22.

23.

A. Well defined organizational goals

C. Both Aand B

forITST grar & —
A. 3cUdBTeATT

C. defaret=
Planning is-

A. Short term

C. Long term
oo ® -

A. ATTTTH

C. 97 & qdie]
Planning is -

A. Necessary

C. Wastage of time

dIoTR @Y HRT Bl HEd o—
A. 917 &Y wiasrerofy

C. gff
Market demand is:-

A. Demand forecasting

C. Supply

B. Effective planning

D. Neither ‘A’ nor ‘B’

B. AeI®IeA
D. 94 sraferay & ferv

B. Medium term

D. For all the terms

D. &9 &I gdial

B. Unnecessary

D. Wastage of money

D. 394 9 &I &1 |

B. Real demand

D. None of these

10



24,

25.

26.

27.

SUHH P AT TR BT 8—

A. THTHI AR B. 98l &1 AfTHR

C. |zl &1 I & I D. SWad # ¥ I el

Selection of an enterprise depends on:-

A. Sole Trading B. Right of entrepreneur
C. Self ability of entrepreneur D. None of the above

R RIS & J%& 3a9q T

A. FIART BT qH B. 31foremd \Rier
C. Atd B. gFI D. ATd B. g &!

The main components of business planning are:-

A. Business description B. Executive summary
C. Both Aand B D. Neither ‘A’ nor ‘B’
JUBRN & YATONDHROT H HHI Bl & —

A. JdR® Rl | B. aiga dmemel |

C. SRR qremsii | D. e gt |

Lack of standardization of the equipment is due to -

A. Internal barriers B. External barriers
C. Government barriers D. regulatory barriers.
e faereryor g g —

A. FfEreRoT SMaegdant B. ORI 3mazadhar

11



C. 9 JMaIHAI D. G9EH JMITIHATT

Investment analysis deals with:-

A. Funding requirement B. Material requirement

C. Labour requirement D. Resource requirements
Y Yol &7 A T8l ® -

A. FoTaF BT A B. 3= &1 ff+A

C. FUTeTar D. wRar sirenfie faa s & o

The source of fixed capital is not :-
A. Issue of debentures

B. Issue of shares

C. Creditors

D. Loan from Industrial Finance Corporation of India

frfaRad @ &9 IR 9] 99fd g —
A. =it B. urg faat
C. qde< =g D. &R

Which of the following is a non current asset?

A. Goodwill B. Bill receivable

C. Prepaid expense D. Debtors

faciar Rerfcr argurd 1AM USRI fdhar Smdar & —

A. TR T B. ufcrerd
C. o D. 379 9§ ®Ig 8!
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31.

32.

33.

Financial position ratio is generally shown in -

A. Simple ratio B. Percentage

C. Times D. None of these

3FI— TRIETOT SIUTT @1 AT 1 | f=aforiRad el § 9 a9 Al
FERT Bl &g | el T SAIe—

A R5s B. e fau=

C. i D. 79 A ®Is &l

Which of the following assets is not taken into consideration in

calculating acid test ratio -

A. Cash B. Bills receivable

C. Stock D. None of these

TdeT Poll a—

A. T B B dTe] B. ORI ¥ &M o &l

C. @I &M I3 Td TR A &M oF al & D. S99 9 PIg T8l

Management is an art of:-

A. Doing work himself B. Taking work from others.
C. Both for doing work himself and taking work from others

D. None of these

a9 SUTeT IIRT add § gi—

A. U IdTeA B. 30T IUIGH

13



34.

35.

36.

C. e D. fgda®

Present production system infact is:-

A. Direct Production B. indirect Production
C. Primary D. Secondary

08 AT & —

A g B. feoma=

C. 9™ D. 3949 & 99

Brand indicates-

A. Symbol B. Design

C. Name D. All of these
AN NP AID & 8

A. FvS B. efafer

C. Ui D. MR 1%
Maximum wide scope is of :-

A. Brand B. Labelling
C. Packaging D. Trade mark
AT 3%l TR AT &R BI B

A. ReR B. =il

C. 3% ad D. 579 A ®Ig 781
The rate of dividend on preference share is -
A. Fixed B. variable

C. Semi Variable D. None of these
14



37.

38.

39.

40.

IDBI &g a¥ zerfug & g of ?

A. 1944

C. 194

B. 1954

D. 1974

IDBI was established in which year ?

A. 1944

C. 1964
AT 2—

A gg a™
C. =g Py
Dividend is -
A. Net profit

C. Reserve fund

oI AT BT SIS SaTeR0T o
A. ISl IR =19

C. g9 &

B. 1954

D. 1974

B. o &1 fafae=

D. ffaaRd o &1 [

B. Appropriation of profit

D. Part of undistributed profit

B. 9@t g

D. fb=mam

The best example of variable cost is -

A. Interest on capital

C. Wealth tax

Y U Thidh B—

A. 3T SURT § IR &=
B. 3= &=l ¥ fafderar &=

C. 3T $hls Bl AP

15

B. Material cost

D. Rent



41.

42.

D. 8 &I 39 SHISAT H dfedh

Conglomeration is a technique to-

A. Expansion in the same industry B. Diversity in other areas
C. Taking over other units

D. Divide the organization in sub units

I & TIT B—
A 99T & ufe B. SRR & ufd
C. IR & Ufey D. 379 9 &

Responsibility of entrepreneur’s are -
A. Towards society B. Towards Government

C. Towards environment D. All of these

IRIATSTHT TIR & ST 8-

A vaddi gRT B. UsIdi gRT
C. S gRI D. 39 9 & gRI
Project is prepared -

A. By Promoters B. By managers

C. By Entrepreneurs D. By all these.

16



Yvs — § / Section-B

AY a&qfiss 439 / Non-Objective Type Questions

o 3N 939 / Short Answer Type Questions

U AT 1 ¥ 18 IF oY SR i & U & | 399 | fHl 10 Ul & SR
3| TS T @ o 2 ofe fuiRa 2 10x2=20

Question no. 1 to 18 are Short answer type questions. Answer any 10

questions. Each question carries 2 marks. 10x2=20

1. gde B gRETeT 2 |

Define management.

2. AT BT Ja<i— T 872
What is the promotion of business?
3. JIUT BT IRHIT PN |

Define Ratio.

4 ATeRd 3TawR a1 JIT & ?

What is the sensing entrepreneurial opportunities?
5. HHART 3R IFHT dY 9T BId &7

How do entrepreneur different from employees?

6. JYTaROT T 87

What is environment?

17



10.

11.

12.

13.

14.

15.

16.

17.

FHME IIATaReT R®IT 57

What is Micro - Environment?
AHINIS bcdh a1 &7

What is social factor?

=gl a1 faaRor #egwell &l 9dr |

Name any two marketing intermediaries.

JISTR TATAROT & 3T AT AHT &7
What do you mean by market environment?
TR fAgeTooT & T Sfery 87

What is meant by market assessment?

IS SUHH B fdbval &l UwUl B IaX |

Mention any two forms of business enterprises.

UMY BT gRETRT & |

Define strategies.

HITeATHE RIS &I 57

What is organizational planning?

T @1 JFRTe ufear | weT SdT 8°

Why planning is said to be mental process?

fafera frieH & 1 920 Sew @ 2

What are two major objectives of financial planning?
IRASHT & I W U Afera oG ford |

Write a brief note on selection of a project.

18



18.

IRASTHT HedThe & FIT I3 272

What are the objectives of project assessment?

4" Sa9a 939 / (Long Answer Type Questions)

U3 AT 19 W 24 db <" IR Bife b U 2| UAd Y b folv 5 3

fafRa €1 579 9 5=l 3 gl & SR < | 3x5=15

Question no. 19 to 24 are Long answer type questions. Answer any 3

questions. Each question carries 5 marks. 3x5=15

19.

20.

21.

22.

23.

24.

AETH U @ A= JdR SH—DIF | 57
What are the different types of accounting ratios?
Hqfg & oAl Fa1 2?

What are the Growth strategies?

FareE @ fafr= gerR qar |

Mention the different kinds of resources.

4ol & =1 y&RI &1 9oi= o |

Explain the different kinds of capital.
P JdTe fqaRor q1 87 39D o™ AT ARl BT gary |

What is fund flow statement? Discuss its merits and limitations.

" gde dAT YA 9EH 2 39 fAaR Bl e B |

‘Management and Administration are the same” Clarify this

concept.

19



